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2H: 230
M 2B CA XA
& gde 23 29 2 EXN2s2 AEXE (&)
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
OLTAUAA iz  150,0008 <122 1,800
ONEE Ha 442
400,000 *13] 204 & 800
OuNsSRERE=S 500,000 » 14! 500
OZoltH&SHza XS HHYEER
600,000& » 14! 600
DEt=a2g s A3l 300,000 14! 300
O2 ¢ =l 2,505
>erel EHBY ARUZ(SIHH)
7563 x 1T *BAl 2H+72 436
Detde 2 3@ 24+2dH (A, SIHH)
7563 «2LH*BAl 2tx72L 871
DAL 23 1,198
odHeE 805 x2LH *BA| 2H+722 928
oders 4013 «2CH*BAl 2t x42Y 270
O3 AIZ ZHI =Xl 82,600
DA RRES 13,000, 000& 14! 13,000
>EHOIX |2+ 300,000& x12& 3,600
> Oor2t ZHlEH 40,000,000& =14 40,000
DHEHALAEZ 26,000,000 » 14! 26,000
202 044l 1,560 1,200 360
01 = LH o4 1l 1,560 1,200 360
Ogtdel 2st83d 24ds g2 =8 ol
130,000& = 12& 1,560
206 M= Hl 4,000 4,000 0
01 M= 4l 4,000 4,000 0
ogzx & A8F ¢ 2,000,000& x14! 2,000
OHlz & st S #< 2,000,000& » 14l 2,000
301 et d s 30,000 30,000 0
09 HALAHIEA S 30,000 30,000 0
OetZel 23 & A &Sl
30,000,000 =14 30,000
401 A& HIZ 201 I 93,000 17,000 76,000
01 A& HI 93,000 17,000 76,000
Ogtdel 233 Ald2el 23 I A
35,000,000& =14 35,000
OelZel 23 S0Isd FSAY WA 3
At 23,000,000& =14 23,000
OtZel 23 AE &t ¢ 35X uH
10,000, 000& 14! 10,000
OeZel 23 EFUE 2 2EXE 3
25,000,000& =14 25,000
9o 2T HE BHE ZE2IY 29Y 50,000 50,000 0
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M 2 EA XM
Ce: 2He 2S2g 29 Y EXNSst2 MEXH (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 50,000 50,000 0
04 SIZ2ISHAAIH E & 50,000 50,000 0
Ogtde|2e2d dE g4 2208 29
50,000,000& = 14! 50,000
gde 2E=Ed 230,000 230,000 0
= 100,000
Al 130,000
307 212t0| & 230,000 230,000 0
& 100,000
Al 130,000
04 SIZ2HSHAALSH E & 230,000 230,000 0
oetde =s=d 230,000,000 » 1Al 230,000
& 100,000
Al 130,000
AN EX Q9 Y A 30,000 30,000 0
201 LBt Y| 30,000 30,000 0
03 Al H H| 30,000 30,000 0
Oad EXS Y A 30,000,000 14! 30,000
EXEs2 =2 22X 64,000 80,000 A 16,000
&< 32,000
Al 32,000
307 QI2t0| & 64,000 80,000 A 16,000
= 32,000
Al 32,000
02 QI2tAAMAIE E =X 64,000 80,000 A 16,000
OEXN2s2 =& 212
64,000,000 1Al 64,000
= 32,000
Al 32,000
S5 0tE ZAHAAMY(F=IE L ZE) 523,090 0 523,090
401 AlEHIZL 2 0HY| 523,090 0 523,090
01 Al&EH| 520,000 0 520,000
QX2 220te XML (=RE L 2H) 520,000
> Al & H| 520,000,000 « 1Al 520,000
03 AlE 21| 3,090 0 3,090
OAlIE 20t 3,090,000 =14l 3,090
Ssld=&g=sX&d 7,634,225 10,407,980 N2,773,755
J| 539,000
= 123,800
Al 6,971,425
FFE2MHE 2H 5,566,000 4,087,000 1,479,000
306 =2 5,566,000 4,087,000 1,479,000
o1 s 2 5,566,000 4,087,000 1,479,000
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Ozstiet 29 1,285,000, 000 14! 1,285,000
O3 M DR A 413,000,000 =14 413,000
Ozstl=&s N3 500,000,000 » 14! 500,000
O=3E S8 2= a4d3 N3
335,000,000 » 14! 335,000
o=z g4dst XA 100,000, 000& 14 100,000
OBYLLHAERZ NEAML(WEZHIl)
70,000,000& =14 70,000
OFsrdnsact 22 X3 A (WA H])
20,000,000& =14 20,000
OFLAEUFBMH= IHXNJ(F2E0==H)
te (w=sZ4l) 50,000,000& =14 50,000
Oxci=2 24 1,690,000
Dol (=) 20,160,000& » 14! 20,160
PEER= ZE HA 231,420,000 » 14! 231,420
> AIE &Yl | AIH 305,380,000 =14l 305,380
D> AHS 2t el d] 47,200,000& =14 47,200
> & AtH| 283,840,000 » 14 283,840
> Al & Hl 402,000,000 =14 402,000
D> XHAHE S HI 400,000,000 » 14! 400,000
Ot+E2dd 24 809,000
PEER= L HA 93,870,000 » 14! 93,870
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> & AbHI 142,000, 000& 14 142,000
> Al & Hl 420,000,000& =14 420,000
OEHAFLR 29 90,000,000 =14l 90,000
O23t el 430 29
14,000, 000& 14! 14,000
OdF 24232 HH 29
50,000,000 =14l 50,000
OMatz sty 299 140,000, 0002 14 140,000
A2 29¢ 200,605 249,500
307 glz2+ol & 200,605 212,900
02 HAFHAANGEEE 57,300 87,300
OE==2std gsk& 57,300,000& =14 57,300
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Ngese Agy 28N 12,000 12,000
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Al 6,000
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Al 6,000
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201 ¢er24| 980 980 0
01 At 22l 980 980 0
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70,000& »7Q1 x23] 980
307 glz2tol & 106,000 106,000 0
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401 Al HIZ 201 8] 65,000 0 65,000
01 A& HI 65,000 0 65,000
O=sto & =F Wuteh Ald DHIBAM(E=,
o) 65,000,000 =14 65,000
o=cd Xg2d 94,440 81,600 12,840
202 O4dl 7,680 3,600 4,080
01 = LH 4 Hi 7,680 3,600 4,080
O2ti=&sXd dF =& 04l
640,000& 128 7,680
307 glz2tol & 86,760 78,000 8,760
03 BIAHMNHE2IHIEL 86,760 78,000 8,760
OMEZ2UH=SHLHMEAEY BT 2
55,560,000& » 14! 55,560
OABIROIZ020ENE BFNE 2
31,200,000& =14 31,200
EFEANY SHSUHE HIHE 25,000 25,000 0
307 21201 A 25,000 25,000 0
04 DIZHHALALSE E X 25,000 25,000 0
OFAE SHES e ikt
25,000,000& =14 25,000
0= e & EE3 4,000 4,000 0
307 21201 A 4,000 4,000 0
04 QIZFHALAIH B = 4,000 4,000 0
OF2szse ny2dH L E23(2a0=
= Ly 4,000, 000& 14 4,000
0= Al 2 AF0=X =EIE3 11,000 10,000 1,000
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307 212t0| & 90,000 90,000 0
04 SIZ2ISHAAISHE E X 90,000 90,000 0
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307 2Iz2t0| & 5,000 5,000 0
04 SIZ2ISHAAIH E & 5,000 5,000 0
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5,000,000 =14l 5,000
23 OFEHN 10,000 10,000 0
307 212t0| & 10,000 10,000 0
04 SIZ2HSHAAISH E & 10,000 10,000 0
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2H: 230
M BT A =24
el 2o=gsNE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
L2ANE EAE L3t 742,600 624,300 118,300
J| 539,000
< 40,600
Al 163,000
301 gtE L= 742,600 624,300 118,300
J| 539,000
< 40,600
Al 163,000
01 M2I2EZE+06l= 742,600 624,300 118,300
OsE2s0I2d A 742,600,000 » 14! 742,600
J| 539,000
< 40,600
Al 163,000
sSt=20EBM==H FIOHXA 80,000 0 80,000
< 40,000
Al 40,000
307 21201 A 80,000 0 80,000
< 40,000
Al 40,000
02 YAFHAANGFEX 80,000 0 80,000
Ost=esM==H XA
80,000,000& » 14! 80,000
< 40,000
Al 40,000
SN2 ALHBE 30,000 0 30,000
307 glz2tol & 30,000 0 30,000
04 QIZFHALAIH E = 30,000 0 30,000
O9GMES AMHEBE 30,000,000& =14 30,000
HAs =HIA 243 WA 5,000 0 5,000
< 5,000
307 21201 A 5,000 0 5,000
< 5,000
04 QIZFHALAIH B = 5,000 0 5,000
Odis =HId S35 M
5,000,000& » 14! 5,000
< 5,000
ANgl=" 4 3,961,831 3,891,151 70,680
ANEgsat 24 1,465,874 1,407,090 58,784
201 L4l 2,100 2,100 0
01 At 2t 2l 2,100 2,100 0
O3 2d=¢ 2,100
DG A 2,100
O=2ZeH 70,0003 521 +33] 1,050
OXERA 70,0003 x501+33] 1,050




2N 230z
M 2HTA EA
&S A=Y 84 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
301 gt L= 1,463,774 1,404,990 58,784
V=t - 2s2SE43 1,463,774 1,404,990 58,784
OANgg 1,375,240
D20 (4Ued) 878,052
O XN & X(s= 1728)
3,079,000& x1Q1x12& 36,948
OTHRH(7Z 1652)
2,317,000 11123 27,804
O ==ABt=IH(T72 1288)
2,084,000& =11 %123 25,008
O @ (8= 1682) 2,076,000 *101x12& 24,912
O3 (82 15&88) 2,027,000 +121x12& 24,324
O @ (8= 1458) 1,975,000& x601 12 142,200
O H& (82 1383) 1,924,000 721 x12& 161,616
O @ (8= 1288) 1,866,000 +621 12 134,352
O (82 11&&) 1,807,000 x40 x12& 86,736
O @ (8= 10&88) 1,745,000 #5021 %128 104,700
O H&(82 85 8) 1,615,000& 121 x12& 19,380
o8Bz 73 8) 1,545,000 201 x12& 37,080
oOHA(BZ 65 8) 1,472,000& 321 x12& 52,992
Dols+g(a4ded) 52,200
O Xl & Xt 250,000& x11«12& 3,000
OHRE, AL}, =4HZ
150,000& 621 x12& 10,800
O et & BrFX}, AEHE
100,000& »32021 » 12& 38,400
>EBAC(AUE) 52,200
O Xl & Xt 250,000& x101«12& 3,000
OHRE, s=HEFX}, AR
150,000& 621 x12& 10,800
OLetetd  ErRX}, A2
100,000& 32021 » 12& 38,400
DEela=g(4ddR) 28,200
O Xl & Xt 150,000& =121 x12& 1,800
OHRE, HEFX}, AR
100,000& 602! 12 7,200
OLetetd  BrRX}, A2
50,000 +322!«12& 19,200
DS (4UHR) 38,350
O Xl & Xt 70,0003 x1Q1+53] 350
OERE, =4, =&4HRJ, et
2 Bt A2 HR 50,0002 «3821 %203 38,000
DHESOH (AL HR) 43,866,000& *23| 87,732
DLDSHI (aYe) 57,120
O Xl & Xt 140,000 11 %123 1,680
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=3t A =24
NEES 54
S BB (BA) - MRAY - BYS il
ooeg, =4y PN
30,000& 621 128 9,360
ogsetd o u of & £t &l
120,000& x3201x12& 46,080
PERRY 282 118,486
o=8d= 1,154,760,000& *4.5/100 51,065
odZEE= 1,154,760,000% *3.06/100 35,336
OHJIIQLEEZ 35,335,700 +6.55/100 2,315
(ORNE=J8= J=3 1,154,760,000& *1.5/100 17,322
OMEEE 1,154,760,000& «1/100 11,548
DEXZ(aAeR) 5,000,000& «3¢! 15,000
DMAAFTZ 47,900
OHAXHZ(H) 5,000,000 19! +23] 10,000
OEAZ(AHA) 2,000,000& =121 «83] 16,000
O et (<) 1,500,000& *1Q1%23] 3,000
oOE= & M = 1,500,000 * 121 %33] 4,500
O WA (H2) 300,000& »621 x82] 14,400
N2 88,534
DA MBI 200,000& x5! %32 3,000
>3 atl 7,000 x50Q! +83] 2,800
PSACRO(ARY 52,6003 1221 x83] 5,060
>E&0dl 50,000& #3021 122 1,800
DARA 22| 200,000& 12 2,400
DESHEXAHIA) BA AHE MBS
200,000& 12 2,400
PEEZE RERS 100,000 «12& 1,200
PHEE RIJIUS 7563 *BAl 2+ x722 436
>3 S22 MA 10,000,000 * 14! 10,000
PEIGE E2=2 MH 600,000& » 14! 600
>oteE g 10,000,000 * 14! 10,000
PSS = 50,000& *82 400
DoAEsSAH 2 K=t 300,000 82 2,400
DAZEHI(EW, & 300,000 43 1,200
D OOt =8 200,000& »2CH 82 3,200
DAEREH(AME, 3H =3 5)
1,000,000& * 14! 1,000
> AFR D101 2eld] 50,000& 128 600
DRAREIEAE 20,000,000& =14l 20,000
DRSS A= 300,000 52 1,500
> &= M EHE 8,000 *39¢ »43] 1,248
&= AEEEH 300,000& 12 300
Det=gHUHME 2,500,000 13/ 2,500
DRSS X Y 500, 000& *3=l 1,500
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el

230l = ot
ST Al =4
ANgosdt =4

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Do R3S 3,000,000 1Al 3,000
>PAFS 10,000,000& » 14! 10,000
ANEnsatst 29 2,495,957 2,469,061 26,896
201 Bt A H| 2,520 2,520 0
01 At 22l bl 2,520 2,520 0
O3 g2 2,520
DugEAtAG FALY 2,520
O2d/A 70,000& 721 *33] 1,470
ONERA 70,000 *501 x33] 1,050
301 dEtE A= 2,493,437 2,466,541 26,896
W= - 2s2SE243 2,493,437 2,466,541 26,896
OAl & W&kt ct 2,312,441
DS (AYR) 1,463,380
O & X & Xt 55,000,000 =101 1 55,000
ORE (62 1188)
2,249,000& x 121 x12& 26,988
O SR (72 20&=2) 2,508,000 x40 %128 120,384
Ot (72 182=2) 2,415,000 #3021 %128 86,940
O EHR(72 1782) 2,369,000& x50 %128 142,140
Ot (72 162=) 2,317,000& x321 %128 83,412
O &R (72 15&=2) 2,261,000 «501«12€ 135,660
OS2 (73 1452) 2,205,000 x201«12€ 52,920
O & (72 138=2) 2,145,000 #3021 %128 77,220
O (73 125=2) 2,084,000 x201x128 50,016
O (72 11&=) 2,017,000 821 %128 193,632
O SR (72 10&2) 1,948,000 3021 %128 70,128
o Ca(73 95 =) 1,876,000& 121« 12& 22,512
O EHe(73 85 2) 1,801,000 x621 128 129,672
oH (78 7 2) 1,721,000& *5Q1x12& 103,260
O EHe(73 652) 1,641,000& x2021 x12& 39,384
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